P = a® + 4a°b + 2ab?, Q = —2a%b + 3ab®> - b & W, 3P -205
A ArsEH?

@ 3a® + 12a°b + 2b3 @ 3a® - 12a%b + 2b3

@3(13 + 16a>b + 2b° @ 3a® + 8a%b + 2b3

® 3a3 - 8a2b + 2b°3

3(a® + 4a®b + 2ab?) — 2(-2a?b + 3ab* - b?3)
= 3a® + 12a®b + 6ab?® + 4a%b — 6ab?® + 2b°
= 3a® + 16a%b + 2b*
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Al oA A = 2x% - xy? +3%, B = =2xy° +2)°.C = * +y* |
diste] (24 - B) + C & Altsta?

@D 2x3 — 4x%y + 3y? @ —x3 +2x%y -3
@ 2x3 + 4x%y — y? @x3 +4x%y 43
® x3+ 43

(2A-B)+C
= 4x%y — 2xy? + 2y% — (—2xy% + 2y%) + 13 + )3

(24— B) + C
= x5+ 4x?y +y3




U A A, Bl Histe] A - BE F51H?

A =2y? + x*> = 3xy, B=—4x% - 2xy + 5y

@® 5x% - 2xy + 3y? (@)5x2 — xy — 3y?
@ 5x% + xy + 3y @ 5x% + 2xy — 3y?

® 5x% + 3xy +3y?

B

SRI7E At £

A—B = (2y? + x? - 3xy) — (—4x% - 2xy + 5y?)
= 5x% — xy — 3y?




@ —xy® ® 12y

(@)—x5y4

@ xy°

@) —x4y5

xy(-xy)? = 22y (-xy%) = —x°y*
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(a—b-c)?<= A AN ALY

@® a? + b? + % + 2ab + 2bc + 2ca
@ a?® + b? + % — 2ab — 2bc — 2ca
® a? - b* - c? - 2ab - 2bc - 2ca

@a2+b2+02—2ab+2bc—2ca

® a? - b? -2 + 2ab — 2bc — 2ca

(a=b-c)?
= a® + (=b)? + (=¢)? + 2a(=b) + 2(=b)(~c) + 2(-c)a
= a® + b? + ¢ — 2ab + 2bc — 2ca




6. THHA (62 4 26— 8)(342 + x + k) ) AAAA QRG] A% 15
o o, A4 ko] ghe?




2x3 +4x2 -7, B= x>+ x-29°] "5}o] A - 2BE

@2x3+2x2—2x—3 @ 2x* +2x2+2x-3

@ 2x3+2x2+2x+3 @ 2x® +6x2-2x+3

® 2x3 +6x2-2x-3

B

A-2B 2 SR ol Aelgit.

A-2B=(23+4x>-7)-2(x2 +x-2)
=23 +4x®2 -7 -2x> - 2x + 4
=2x34+ (4-2)x>-2x-7+4
=2x3 +2x2-2x-3
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@) (a+b)2(a-b)> = a* - 22 + b*
B (—x+3)% = x3 - 9x2 4 27x — 27
@
®

(
(a-b)(a®+ab-b?) =a*-b*
(

p=D(P*+ (P +1)=p* -1

B

(x—y-1)2=x>+y>+1-2xy—2x+2y
(=x+3)3 = —x + 9x% — 27x + 27
(a—b)(a® +ab+b*) =a*-b?
(P=Dp+ 1>+ 1(p* +1) =p* -1




(x+1)(FP-x+1)=x>+1

a+2b-3c)® = a®+4b2 + 9¢2 + 4ab — 12bc — 6ac

—_—~ o~

©)
@
@ (x+2)(x*-2x+4)=x3+38

@(xz—xy+y2) (2 +xy+y?) = x* —xB? +*

® (x-1)°(x+1)2=x'-222+1

@ (x* - xy+y?) (X2 + xy +5?)
= (& +5%)* - ()
= xd b x2y? 4y




10. (P +ax+2)(x* +bx+2)E AMFS o, 24 P AFE EF0
o] H|A St= &= a, boll tiste] a + b o] 27

N w

@ -2 @—1 @1 @ 2 ®

B

(x3 +ax +2)(x® + bx + 2)

= x5+ bx* + (a+2)x3 + (ab + 2)x® + (2a + 2b)x + 4
(x2 9] Alg)=(x* o] A)=00]2=
ab+2=0,a+2=0

et g =-2, b=1

La+b=-1




11, (203 = 3x% 4 3x + 4)(3x* + 2x% — 2x% — Tx + 8) 2 AT Ao A] &3
o] A4=?

O 31 @ 33 ® 35 @ 37 @39

2x3 x 8 = 3x2 x (=7x) + 3x x (—=2x2) + 4 x 2x3 = 39x°




12. 1 A, Bol| thato] A4t A, vE AAB=2A+ B, AYB=A-3B

—x3, B=x?+3x+ 1Y Wl Av(BaA)E ToH?
O 2x%-18x-10 @2x3 —12x2 - 18x - 10

@ 2x® 4+ 12x> + 18x + 10 @ 2x® 4+ 12x% + 18x - 10

® 2x3 —12x%2 +18x+ 10

AV (BAA) = AV (2B + A)
A-3(2B+A)=-2A-6B
919} 2ol A& 7hds] g2t & A, Bol tidsto] ARttt




13, TR (a2 + 1)1(x + 1) O] 24

®s5 @1 0t @i

® 722k

w2 4+ 1)" (8 +1)° 2
8+ 9 = 172} T}l o]t}




o]

= B = a+ beuﬂ
WA % 87 ghe 28 Betel,

, 2A + BE oh= 1ol A

2A + B = 2(a + 2b) + (2a + 3b)
= (2a + 4b) + (2a + 3b) @ FHiH 2
=2a+ (4b+2a)+3b © AIHZ
=2a+ (2a+4b) +3b © W32

= (2a + 2a) + (4b + 3b) @ LT
=(2+2)a+(44+3)p © FHIHA
=4a+7b

> =

> 3E: ©

@ 2a + (2a + 4b) + 3b = (2a + 2a) + (4b + 3b): A
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16. x+y+z=1xy+yz+zx=2,xz=34 W, x+ 1)y +1)(z+ 1)
o] kg ot

> E:

> ™eh: 7

(r+ 1D +1)(+1)
=xyztxy+yzt+ax+x+y+z+1
=7




17, xty+z=4, xy+yztex =1, xyz =22 W, (xy+yz) (yz-+2x) (zx+xy)
o] & otH?

o6 @5 @) @ 2 ® 1

. :
(xy + y2)(yz + 2x)(zx + xy) =

xy +yz +zx = 1& ©|-gsto] HYsIH

(xy + yz)(yz + zx)(zx + xy)

= (1-2zx)(1-xy)(1-yz)

=1 - (xy+ yz + zx) + (FPyz + 9%z + x92%) — (xy2)?
=1-(xy+yz+zx)+xyz(x +y+2) — (xyz)?
=1-142-4-4

=4

¢ 91014 ofehe] HANL ol &orATt.
(x—a)(x=b)(x—-c)
=x3—(a+b+c)x®+ (ab + bc + ca)x — abc




18, (-26 + 2% +ax+b)2 9] AALONA o] A%7} -8 o, a - 259)
L)

o6 @+« @2 @0 ® 2

B ~
AN o A2 ARG} oA} &, AAFT A
Fol k2t 2714 2ok,

(=2x3 X b) X 2 + (x® X ax) X 2 = (—4b + 2a)x>

2a —4b = -8

L a—-2b=-4




19. o34 (a-b)(a® + ab + b?) & Z7HoHH?

® a®-b? (@)a3—b3
® a4 b? @ a® + 3ad%b + 3ab® + b3

® a® - 3a®b + 3ab® - b®

A 1 (a-b)(a® +ab+b?) =a-b3




20. TS F (x—y)2(x+)? L AT ALY

@ x4 —y? @ % —y?
@x4—2x2y2+y4 @ x* —x%? 1yt

@ )C4 _4x2y2 +y4

(x=9)2(x+3)? = {(x=y)(x + )}
= (x2 = y?)?

—xt—2x%2 1yt




21. (x-2y-3z)%2 At xol diet WAz o2 g2fst?

@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y* +12yz + 922 + (—4y — 6z)x + x2

® 922 +4y? + 12

(x =2y —3z2)? = x? — (4y + 62)x + 4y* + 12yz + 92°




